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Ifyoud el
you do not know the answer to any question, do not spend much time on it and pass on o

next
Xt one: Iftime permits, you can come back to the questions which you have lef outin
- Qutin

the first instance and try them again.

Since the time allotted to the two parts of this questmn paper is very limited, you sho id
u

make the best use of it by, not spendmg too much tlme on any question.

A biank page ig prowded for rough work at the end of each part.

. Remember, you haVe to shade apswers on a scpa“ ate OM" Hieet

NMMS(E)

Part -~ I MENTAL ABILI’IY TEST

’Iime 90 Mmutes ‘ Wax Marks 90 _

_ Nﬁte SHADE the correct altcmatwes in the OMR Answer S‘heet prov1ded from amongst the

ones given agamst the corresponding questions in the Ques’non PaperBookle’: For %hadmg_. o
the cucles, usc & HB Peucll : : .

' Dzrectmns~ Ques"'ons (1 te 1
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E (1) 68 {2} 93 i (3)
_'.Dlrectmns Quesnons (11 to 20)

o The followmg questions aré based on sunp
- given under gach questlon Aﬁer 1dent1fy

1L 9999949999 4999 99 =7 . -
(1)) 11096 () 111096 | -(3)- 111196

12, 7184 64-214- 128 + 174 = 9 :
(1y 705 @) 613

lear Lthmetzc calcuiatlons There are four aItemanves
ing the nght answer, mdwate it as per Instructmns

(4) 110096

(3) 694 'h

(4) 674
o
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13, 13.141 + 31417 - 27018 =7

. 16 \/ﬂx14 6><7+4x-182 'x'_ L
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20 0009 ¥ 0 0(}2 = .? iy B

Directmns Questmns (21 to 30) : .

* Ineachofthe following (;uestwns there are a certain relatlonsmp between fwo given’ words on -
.. oneside of 1.+ and one word is given on another side of : -, while another word is to be:found o
- from. the given 4 alfernatives, having the same relatmn w1th th1s werd as the words of the glven__ L
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23, Dam : Water: Godown P
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24. " Crime : Cgurt::Di_seése:? ' _ : ‘ Y
(1) -Lawyer. (2) Punishment . (3):Hospital (4) Doctor. .

.25, Millionaire : Wealth : : Genjus : 9 ' R
{1} Capabiiity @) Smartness (3) Tntelligence (4) - Awareness

- 26. Page:Book'::Brick:? . o ST o
(1) Heap: C o (2) Bu_ilding © o (3) Clay-
. 27, Drmng Bus Flymg Y ' L

(2) Klte S @) Bird gy Actoplane "
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@2 '(3)'_3 w4
stions (51 to 66): - :

lven: 5 alternatwes when f Hed mto each other Would form a complcte square .

(2) (3) e (4) (5)

@ e {3) 2, 3, 4w 3,4,"5._-,.-.-""_:-" R

@ 23,5 ()Y 245 @) 1,45
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Directions: Questions (61 0 70 .
In cach of the following questions, the second figure in the first unit of the problem figure bears
acertain relationship to the first figure. Stmilarly one the answer figure bears the same relationship

to the first figure of second unit of problem figures you have to therefore locate the figure,
which would fit the question mark, _ S _ i o :

61. Probler Figures _
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67 Prolem F fgures
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78 68,117, 61,124, 54, 2
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SPACE FOR ROUGH. WORKC Part I SCH@LASTIC AP HTUDE TEST

- Time : 90 Mmutes \'Iax Marks 49

Nate ¢ s .
iy Sub}ect QuestlonNo andMarics allotted

er_._She'ét ‘provided,
the Question Paper

.the correct altematzveq in: the OMR An
from ¢ amongst ‘the ones gzven apainst the correspondmg quesnons iy
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PHYSICS

_91. Whlch of the followmg system gives TN as resultant force?
. —--{:E: @ %

N T 71~“1 (4) __.:.7N...4_ i

L8 An object movmg ina cucular path and covered 374t dLStdnce e} the pe:rlmeter of the path o
1, ther, the ratm between chstance -

o reach from A and B If v {srading of the mrcular §ol
traveiled and d1splacement by the object betweenAandB i8] PR

L Mﬂ S @ E
wal ___(4) o

o4 When & glass rod is rubbed w1tha sﬂk cloth then charges depos;ted oty them resPectwely_' i .

as follows:

(B Pos;twe charge on s11k ng gatwc charge on glass rod
2) Negat;ve charge on silk, posmve charge o glass md
(3). - Positive charge on both - :

& Negatlvs charge on both

95.. The reason for hot air moves to upward, chrectlon because 1t
(1) Occupies larger place, density increases
(2). - Occupies smaller place, density ircreases
(3) Occupies larger place, density reduce
(4} OQccupies smaller place, density reduce

NMMS(E)

96. ’E;he intensity of the sound 1060, fimes more powerful than that total sﬂence is
{1y 1000 dB (2) 3dB (3). 60 dny My 309
97.. Whlchofthe followmglscaﬂedas “rain. gauge”‘? o o L
. (1) Udo mter 4(.2). Pluviometer (3) Ombrometer (4)- .A.li-t.he.above
s T me

2 v e,ﬁgur
~ _r‘?SPeG_ : ely Thera Whlch of the fol[o_ in e

'_ 101 Iu a house everyday they ‘are.using six, 100W:

6 hours ; f ve 40W biilhs
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CH'EMISTRY | DR
(Cross-linked arrangement
103 When copperu‘[ensds are exposed to air, we ﬁnd greemsh coat on them; due (o reaction of ° 'mon-ome_l's).
. copper WLth '

{ i) oxygen oﬁly

st Tesenice of Oxyge agnesmm_ xidéin thel B

: g 0L Woad. form of powder: ashy whe'n it dxssolved nwater, a New substance iy formed Whaf is the .
Burning of camphor nature of this substance? ) :

) Burning of white phosphorous -+ ¢ (1) Aczdlc

1) :Evaporatmn bf camphm pIaced on a open tray
: '}De" osmng of‘ emetalon another rneial
(1)_ - A i il -'_cf '_.1v b
S T T2y idd. u“c fii-a:ivih
: : A S ) A e b Civea
. Iammefabnc ,‘ S ,( G ad
_(4} Fuclnenweardrf:ss is made o.fme = _ @ ee g e ivib
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'-BIOL‘OGY” St L T I o MATHEMATICS
114 Thehuman sperm gcts energy for it motlhtyfrom REENTE S R : 126. Two Daﬁlralnumbersar
R AR N esuchth ti
(I} Head (2) Mitochondna (3) Neck - ) "..'('4) il B Theproductofthetwonumhersalsbel?

' prod_uc__t_, sum and_di_fférgnde are in the ratio 34:7:1.

(3) Pulses (4) R1ce

125 Root nedules of 1egummosae famﬂy plants ccmtams an orgamsm called Lt
() Plasmodium: (2) Pemcﬂhum (3) Rlnzobmm (4) Clostrs.dlum

o
o™

24‘;.;5}3;, ‘ sl
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‘,133 Fromtheﬁgure E*‘L_—
1y 116° :
() 1200
@ 990 ©
(4.) g

f ' 134 A certam amount of marbles are gwen 10 three §
e \ al of 315 miarh les then the marbles received: by R

. 13-’.";":.Theﬁmseé'r_i'of 5 nuzﬁﬁérg' 1s '2':7',‘.11“. one iﬁére ﬁﬁfﬁber 15

@35 -’32_ S wr

139 Sonu § father is thnce as old as Sonu After 12 years hc wﬂl be ]ust tw
Then thc Sonu s present age is (years) '

e @ (3) 15 i"* won

NMMS(E)- :

. 140 Arectangularlawnlswmb

yZOm Ithastworoad | ' s
itas shown in the ﬁgur e. Then the area of roads is | seachm wxde I’Unmng nthe imdd]e_,‘of_ o

(1) %6m? . i L 2fn': :‘:-

@) 100m S TR T
L (3) 600 m? : S
(@) s0am2 S R S

. included thon the mean is 25, The

ice his daughter.
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HESTOR‘Y

146. Who among the following was not one of the ‘Astadiggagas"’

(2) . Ayyalaraju Ramabhadmdu .

(1 RmnaraJthushana
: (4) PavulunMallana

£33 ngahSurana

147, The 1as.t MughaLE

mperorwas: ar
e (2) JahandarShahZafar T
LAy BahadurShahZafar AR

goddess mshumbhasudlm was bulitby

153 Atemplef{)r I e
' : 2 (3): Rajendral 4 (4} Rajarajal

ful stfeet ﬁ.ﬂl of fme houses

evering youhave a fairwhere they. selt horses; fru
was th1s about V1] ayanagaa C1ty‘? S
SO “Abdul Ragaak (4 i

1 55. Wthh of the followmg ¢
1 p o ’ 1
- (I) 2 to watt and 2 tor Boulton st (2} to watt and - to Bouiton

(3) to Boulton and 3 fo watt_ RSP O ) Zto Boulton an_dztowatt ‘

j: NMMS(E) |

GEOGRA}?HY

15 6 The day which is called an equinox is:

(1) March 21 (2} September 22 (3) une 21, ‘@) Decemb »
er

15 ; In, hlc Ofthe follo lng p g h tO IlO] th Wlth I'efe
W ] W SetS me the laces aIIan ed fIOIIl Sf}ut fencﬁ

to their location? . . _ _
(1) Nigeria, France Arct1cTundra . - Arctio Tundra:

(2) " Africaand Australia
(4) Europe and Afm(;a

“arid these Houses belong o

£ ribiés and diamonds: and clothes of every: .} -
ivegetables, :

ic olo Con’u .' '

(2) ngérm . (3')' Egypt S

as the d1v1smn {)f share i proﬁts between i ames Watt and Boultorz” i

{1). Lowiifna;i;lal ramfal} is 110 cennmeters then 1t W1H. be cons1dered as
2
(3) ngh ram fall gdri ii?;lil;a; :szzl[l
in

28 - B
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mLImCAL SCIENCE

166, InIndiz, who among the foliowmg Nfare elected d;recﬂy? .
BGY) President S (2) ' Members of Lok Sabha:

(3) che Premdcnt _ D (4)) Members of Ra]ya Sa‘oha
1 67 Uttar'Pradesh ey 80 Lok Sdbha commuencms WhilE: Megha%aya has only two Lok Sabha :

17 1 Durmg national emergency, the term of Leg_zsiatlve Asseiti oy
(1) 3 months ' 1§ (3) -9 months

: 174 The Premdcnt of Indla appomts the C‘mef Electmn CD!‘m‘meiQﬂGr under th
Carticles ’
LTy 324(2) (2) 324{4)
"175. The sen‘ience “May God profect ¢ om’ peop}e” is wntten ini the preamb [e of coustlmtion of
(1) 'India “2y Amencci 3 Japan’ {4) South At'nca :

(3) 324(6) (4) 324(8}

30-B
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ECONOMICS

176. gjhi_(?h constitutional article ment_i()ns about ‘Right to Work??
41 ' ' :

| @ 20 (3) 19 (4)' 17
- 177 Florhowmanyhours does apapermlllmn mada,y‘? '
Ly 2y L) 1‘5 (4) 24

! szder the followmg Statements
- below: ¢ i _ and seiect 'ﬁhe COITect answar usmg the code glven

A) Public Transport can help n reducmg pollunon o :
4Use of h.elmets and seat belts canl avmd rnany hfe nsks

- the sum of hunid ed rupe

'Who 31gns that pr@m:s' 90

hof the follow nglls the most; iny = e
. 4 ponant contributor {6 pove s
1 . P rty anndlaf? o
53; iﬁ?ﬁﬁgg fhe people (2) Lack of regular employment
"ﬁ - PR n o (4) Givmg lmportance to agncu}ture

31-8
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